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xir' - wr@Pg Gsiey / MODEL EXAM
Time Allowed: 3Hours] [ Maximum Marks: 70

CouGullwed / CHEMISTRY

U@ —1/PART -1
Ywarsg AeITssEpsGLD allen_welgsayi. / Answer A/ the questions. 15x1=15

. 2.ewrayLl QUTHL FHewar T(HBSHIF CFO® SL B5 GUThaTTs: LweTUBLW 2 Crsd
9y) ZU o) Zr @) Al ) Au
The metal which is used in packing material for food items
a) Zu b) Zr c) Al d) Au
. 9P BlewevLiys setevi GlEmewTL srjueer LnCapnIenio agaitd
) FuredLL’ 3) waugLd @) yedevfer FF) &THLIGHT [BIGST @ LpTUISHGT
The most stable form of carbon is
a) Graphite b) Diamond c) Fullerene d) Carbon nano tubes
. gsedgaflar LypGaipmienio a9 aimiser
9 04 & O 9) 02& O3 @) O3 & Oy F) 616 L5)e0e® 6V
The allotropic forms of oxygen is
a) 04 & O2 b) O; & O3 C) O3& O4 d) None of these
. Ni%* & 2.aror sell8s eTeVsL TTeiisaf e cTasTesshs e
ENE %) 2 @) 6 ) 8
Number of unpaired electrons in Ni?* is
a) 4 b) 2 Cc) 6 d)8
. oLigmISHe) GDUTL I9D& @I THSSISSTL.(H)
<)) NaCl <) AgBr @) CsCl F) FeS
An example for Frenkel defect is

a) NaCl b) AgBr c) CsCl d) FeS
. allearu® QurheNar gausss GClFda) @)@ WL EEHTaTTD, ailewear LTS weTe] Bena)
CuUDCsmawTeT FTeIpLd @Q)(HIOL BISTRNG cTaied alallenaTullarealens
3) Luib 3}) T @) Ueresmid FF) 6T&|@LDGOGV
If the initial concentration of the reactant is doubled, the time for half reaction is
also doubled. Then the order of the reaction is
a) Zero b) one ¢) Fraction d) none
. IN HCI &r p°H @iy 9) 0 <) 1 @) 7 F) 14
The p°" of IN HCl is a)0 b) 1 c)7 d) 14
. Uestmed pBBlenev GCuifls @&Garrewg® Lot aflenestfiBs S@HLd BlmLd 9) FauLiy Bwib
ENELLT g T @) 9L uFens Bmid F) eTauals BImapLd 2 (heuTeuFevenev
On reacting with neutral ferric chloride, phenol gives
a) red colour b) violet colour c) dark green colour d) no colouration
. LeTeuheIGTAIDNIGT TS &N L TevetT ab aflenarssreniienw BH%SH DS ?
9)) umihls yblevid ) YR 195 oblevid @) OuerGemLiGestmerr
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) @aInmled ggbleenev
Which one of the following reduces Tollens reagent

a) formic acid b) acetic acid ¢) benzophenone d) none of these
. @@ sFQailar CouP @euy
3 SIO o) FeS @) FeSiOs F) Al,O3
The chemical composition of slag is
a) SiO2 b) FeS c) FeSiOs d) AlO3
. Cwrasflwur cpevsgmmler LenewrLiLyd Csmewnr wFLiLy
9) 104° o) 104° 28’ @) 107° ) 180°
The bond angle in ammonia is
a) 104° b) 104° 28’ c) 107° d) 180°
. @ Gevsresr @QevL_Klewevs Fesfloid
9) Fe 3 SC @) Os F) CupseiL e1geabaema
Lightest transition elementsis a) Fe b) Sc c) Os d) None
. SC 9jov@ L1960 sreLiL®w GQeuPmLgSear #5075 LD
9) 47.62% 9y) 26.52% @) 32% ) 34.75%
The vacant space in SC lattice unit cell'is
a) 47.62% b) 26.52% c) 32% d) 34.75%
. @ bilw sevgFellar 0Py LedBlwibd, eTasfled 9)BF 56 TFe
3) Pdlzarey flevssaieni CxTetL g ) BEHB®VSSEeI G\FTEHTL FI
@) F17 SFMID G\SHTEHTL ) F) 9|B% blevggerenip G\&TeuTL )
The p" of an agqueous solution in Zero .The solution is
a) Acidic b) neutral c) basic d) strongly acidic
HO- CH2-CH: - OH @ GQuy 9jCurysd oyblevg g et Qeuliuliu®sgiw Guirg
2 (hod TG
9)) Guggeirulls oyblevs ) Revarwrssred @) CuogsearTead ) CO»
HO- CH2-CH> - OH on heating with periodic acid gives
a) methanoic acid b) Glyoxal ¢) methanal d) CO:

ua® — 11/ PART - I
aCaaid oy aerssenss allor waldsayw . allert e 24 - £@ s LTwwrs afleoLwelssayw |
Answer any six of the following questions. Question No.24 is Compulsory. 6x2=12

16. 2 mE@s® era@mre erasrenr? What is Smelting?
17. wps Qe allearey eramre eraren? What is Inert pair effect?
18. #pss L yFimaevigar augeuemioriyy wrg ? Draw the structure of SOz ?

19. Mn?# gyarg MN** @ @il o9& PevevLiyserenio 2 e wg) aer ?
Explain why Mn?" is more stable than Mn3*?

20. ¢ BCC gjav@s gl 1960 2 airar ojamisisener erestenis s ullenest %655 0.
Calculate the number of atoms in a BCC unit cell.

21. ygwemsaleamers@ @) TOSSHSHHTL HSET (5 ?
Give two examples of zero order reaction.
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22. ev&rL L et Querwet afleearawLi LHBH GSHILIL F[HS.
Write a note on schotten — Baumann reaction.
23. wCorL Gomier eraieurmy swrfssLiu®®mng ? Give the preparation of Urotropine?

24. 0.001M HCI seagsalarpH wHiioors sanss)ps.
Calculate the pH of 0.001M HCI solution.

ua® — 111/ PART - 111
aCaaid oy aemssens@ oL waldsayw . allerr aa 33 - £@& s LTwiors alloLweldsayw |
Answer any six of the following questions. Question No.33 is Compulsory. 6x3=18

25. @wberu yser srgieures Fe203 ulapBg LN 0SB LILS FHewstesrTIdL 5600 60T
UweTUT®H wirg)?
What is the role of Limestone in the extraction of Iron from its oxide Fe,O3?

. P-Os153S 1WPp3® FaomISNGET (LPIGITLIL L LIGSHTL|SH@5F@ STIGSTILOTGT &TIeHHSaT WTeneu?
What are the factors that are responsible for the anomalous behaviour of p — block
first elements?

. CU wppis Pb g1 @rer o5 H2SO4 ar allevesr wrg?

What is the action of hot conc. H.SO4 on Cu and Pb?
. @@L Blevavs SeiomIsHeT IjenesiayF CFFLOBISEH AT 2.(1h6UTSHS 0S5 T ?

Why transition elements form complexes.
. Qur®eys Pmer( Ierard) erarpmred ererer ? VWWhat is meant by packing efficiency?
. Caumiu®sg: aflewearGaussid wPmiw alenarCais wrmles)?

Distinguish : rate of a reaction and rate constant of a reaction?

. YevauredL’ Bigse afFleow sgmp. State : Ostwald’s dilution law.

. CamLiunr@gse aflenes P @MLiLy erapgis. Write a note on saponification.

. 260 Riapenti @Bss allamarmw eapgis ? Write wolf Krishner reduction?

us®— IV I PART - IV
Ywarss aeTrEsaps@w aflarwendsayw. [ Answer All the questions. 5x5=25

. a) 1) yovggruiemwwrsgsad gponuaear alaufdseans . EXplain zone refining process.
i) oyflev GeuPs spayse erarmre erasresr? \What is Acid leaching?
(or)
b) 1) L GurCrer gyewLiy upm Py GHLiL eyss.
Write note on the structure of diborane.
i) Qu&smdl e eramre araren? What is meant by McAfee process?

. a) 1) Camrebed wpareTHalLiLiTeT eTRTHTe eTaset ? allauf.
What is Holmes signal ? Explain.

i) ureduged &CarTAgyiL_er eTaiuTn) aleweTLIGS DG ?
How does phosphorus react with chlorine ?

(or)
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b) arpsamear@sar wHnis s mar@smar CouniL®S5I%.
Differentiate the lanthanides and actinides.

. a) 1) Ugrg swerur® erarpred etawrer? \What is Bragg’s equation?
I) eraswrp® wpmid prarp® QeaupPLmsamer CoumiLB S5
Distinguish tetrahedral and octahedral voids.
(or)
R (PS5 alens aflearssrar C\STOSLILIGSSLILIL L FIGTUTL L aIhail.
Derive the integrated rate law for a first order reaction.

Qamar_jser — Camsaurs Fwatur e aflafl (Saawgl ) b STEIH® FHeTFaler

PH m&rer swearur e afleuf
Derive Henderson — Hasselbalch equation. (or) Derive an expression for the

pH of a buffer solution.

(or)
A— etetip yadw auemsalleveasTer GsTeasELiLGSsLILL L CoussalFullenerelnallss.
Derive integrated rate law of a zero order reaction A — product.

1) SerredLigeSar eraieurn swrHEsLL@S D ?
How is phenolphthalein prepared?
i) oL 18P0 FMesr LwaTISEaT TUPSIS
(or)
sarafFGrr aflewaruiar aflevaranflipenmullenest 6T(1pZI%
Explain the mechanism of Cannizaro reaction.

Write the uses of diethyl ether.

fedehddhednk fedehdhdhd L
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